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INSTRUCTIONS TO CANDIDATES

1. Immediately after getting the booklet read instructions carefully,
mentioned on the front and back page of the question booklet and
do not open the seal given on the right hand side, unless asked by
the invigilator.

2. Write your Roll No., Answer-Sheet No., in the specified places
given above and do your signature.

3. Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.

4. After Opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and printing
of all the 100 questions is proper. If any discrepancy is found,
inform the invigilator within 15 minutes and get the correct
booklet.

5. While answering the question from the Question Booklet, for each
question choose the correct/most appropriate options out of four
most aréf)ropriate options given, as answer and darken the circle
provided against that option in the OMR Answer-Sheet, bearing
the same serial number of the question. Darken the circle only with
Black or Blue ball point pen.

6. Darken the circle of choose options fully, otherwise answers will
not be evaluated.

7. There are 100 objective type questions in this Question Booklet.
All questions are compulsory and carry one mark each.

8. No negative marking will be done.

9. Do not write anything anywhere in the Question Booklet or on the
Answer-Sheet except making entries in the specified places.

. When the examination is over, original OMR Answer Sheet is to be
handed over to the invigilator before leaving the examination hall,
while Question Booklet and Carbon copy of the Answer Sheet can
be retained by the candidate.

. This Question Booklet consists of Five Parts namely :

(i) First Part : — General Mental Eligibility — 30 Marks
(ii) Second Part : — General Knowledge - 20 Marks
(iii) Third Part : — Educational Interest — 20 Marks
(iv) Fourth Part : — General Hindi — 15 Marks
(v) Fifth Part : — General English - 15 Marks

All questions are compulsory.

In case of any ambiguity in English version the Hindi version shall
be considered authentic.
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PART -1
GENERAL MENTAL ELIGIBILITY HTHTT A JEIaT
1. Find out which of the answer figures 1. FH-T1 W AF (A), (B), (C) 3 (D) H
(A), (B), (C) and (D) complete the Y FTeHfer e =1 QU =LA & 1l ShfSY 7

figure matrix.

N |~ N |
ME4QES MEQES
SN S SIS

(A)

(C) (C)

AN S

(D) (D)

A NS

TF o foTu T
Space for Rough Work
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2. How many dots lie opposite the face 2. forgai aTct waten o foafid foran forg 2,
having 3 dots, when the given figure Srefe & 7T ST S HigH Tk o1 a0
is folded to form a cube ?

ST ?
(A) 1 (A) 1
(B) 6 (B) 6
(C) 4 (C) 4
(D) Can'tfind (D) ITa &l TR ST TR

3. The three different positions of a dice .U ok o9 Tafre feafaet s e fean
are given below. TR |
Which number is on the opposite face -1 3 1 o foraf hereh H T TR ?
of ‘1’ ? (A) 2
(A) 2 B) 3
(B) 3 C) 4
(©) 4 (€)

(D) 6 (D) 6
TF whE o foTu T

Space for Rough Work
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Count the number of cubes in the
given figure.

Three positions of a dice are shown
below. What will come opposite to face
containing ‘5’ ?

6 1 4
3 |1 4 ]2 3 |5
(A) 6 (B) 3
(C) 1 (D) 2

What is the next term in the series ?
BCE, CEG, EGK, ?

(A) GKM (B) GKN

(C) GLM (D) GLU

If GIVE is coded as ‘5137’ and BAT is
coded as ‘924’, how is GATE coded ?

31202/TF — BBT/ENT - M

4. T o o9 6 e e R |

(A) 30 (B) 32

(C) 28 (D) 40

qrET sk i fearfa e fommn T 2 | s
S ‘5 T forarm 2 3@eh forafea w=m s ?

6 1 4
3 |1 4|2 3 |5
(A) 6 (B) 3
€)1 (D) 2

TG § STTAT UG AT 7
BCE, CEG, EGK, ?

(A) GKM (B) GKN
(C) GLM (D) GLU

If¢ GIVE &1 Fe 91 # 5137’ 3K BAT
i ‘924’ forad §, 1 3T w7 GATE =1
&g o ?

(A) 5427 (A) 5427

(B) 5724 (B) 5724

(C) 5247 (C) 5247

(D) 2547 (D) 2547
TF o foTu T
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8. How many triangles in the following 8. ﬁ'&@ﬁﬂi‘ﬁﬁ%ﬁﬁﬁﬁﬁﬁﬂa%?

figure ?

(A) 20 (A) 20
(B) 22 (B) 22
(C) 24 (C) 24
(D) 26 (D) 26

9. How many triangles are there in the 9. famfoad foraq fysi 2 7

given figure ?

(A) 6 (A) 6
(B) 7 (B) 7
(C) 8 (C) 8
(D) 9 (D) 9
10. Choose out the odd one. 10. ﬁ'qqaﬁﬂ'ﬁ'q|
(A) 56 (B) 66 (A) 56 (B) 66
(C) 74 (D) 92 (C) 74 (D) 92
TF whE o foTu T
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11. Choose out the odd one. 11. %qqaﬁﬂﬁq |
(A) 4-5 (B) 5-4 (A) 4-5 (B) 5-4
(C) 7-2 (D) 2-9 (C) 7-2 (D) 2-9
12.  Find the missing term in the given 12. &3 ™ 2oft % foqqed 9g =i 91a AT |
series. 122458,
1,2,2,4,5, 8,
(A) 9 (A) 9
(B) 1 (B) 1
(C) 1 (C) 1
(D) None of the above (D) aqﬁaaﬁ@aﬁéq%‘r
13. If Z =26, NEAT = 40, then the value 13. 9k Z =26, NEAT =40, A1 TRY HF O ®
of TRY is
(B) 6 (B) 64
(C) 68 (C) 68
(D) None of the above (D) IR H & s 7ol
14. If ‘L’ denotes =, ‘M’ denotes ‘x’, ‘P’ 14. AL erd 2, M e %, ‘P a1 74
der.10tes ‘+’ and ‘Q’. denotes *~, then v Qe ad — 2, @ e @
which of the following statement is - F TR R ?
true ?
() s2P8L16Q4= -3 (A) 32P8L16Q4= -2
(B) 6M18Q26L13P7=% (B) 6M18Q26L13P7:%
(C) 11M34L17Q8L3= 38 38
3 (C) 11M34L17QSL3=?
(D) 9P9L9QIMI =71 (D) 9P9L9QIMY =71
% & & foTu T
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15.

16.

17.

If signs + and x, and numbers 4 and 5
are interchange, then which equation
would be correct ?

A
B
(C
(D

5x4+20=40
5x4+20=85
5x4+20=104
4x5+20=95

(A)
(B)
)
)

Study the diagram below and identify
the region representing Indian who are
singer but not engineer ?

Indian ’A%& Engineer

N,

Singer
(A) 4,5 (B) 5,6
(C) 4only (D) 7 only

Choose the Venn diagram which best
illustrates the relationship between
Females, Sisters, Teachers.

" (@) » @

©) @Q (D) @XD

31202/TF — BBT/ENT - M

15. 9fe favg + 3 x &1 T 3AF 4 3 5 A
AT § SIEAT ST AT i1 T Tt
BT =fRT ?

(A) 5x4+20=40
(B) 5x4+20=85
(C) 5x4+20=104
(D) 4x5+20=95

16. = o3 o o1 a1 R wa 3@ g9 A
g S UH R TR ol JefRid
2, S SRR A& B ?

wrtaﬁao Tr:rﬁm

(B) 5,6
(D) 7 %ad

(A) 4,5
(C) 4 %aa

17. 383 e s gw s afeen, se i fnere
% 7eY Gel geY ol fe@man ? |

" (@) » @

(C) @O (D) @XD

TF whE o foTu T
Space for Rough Work

Set-A



31202/TF — BBT/ENT - M

18. If BAN =25, GUN =10 then NCR =? 18. Ife BAN =25, GUN = 10, @ NCR = ?
(A) 16 (A) 16
(B) 24 (B) 24
(C) 35 (C) 35
(D) None of the above (D) 3IWiad § U s Tal

19.  Which answer figure will complete the 19. &H-81 I o w97 o 1 e T Yo o
pattern in the question figure ? WW% ?

Question figure o B
A A
/ ? / ?

ya ya

]/ N1/
N | A N | A
Answer Figure EaISLE]

\ 4 \ 4
(A) (B) (A) (B)
N\ HAN \ AN

() (D) x (€) (D) \

20. If L stand for +, M stand for —, N stand 20. FfRL, + forw, M, — = fog, N, x = foe
for x and P stand for + then qAT P, + o 70 3u=m Bt 7, ot
14N10L42P2M8="7 14N10L42P2M8 ="

(A) 153 (B) 216 (A) 153 (B) 216
(C) 248 (D) 251 (C) 248 (D) 251
I HE ok foTg Tam™
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21. There is a cuboid whose dimensions 21. THTAH S I 4 x 3 x 3T 1. 8, 3
are 4 x 3 x 3 cm. The opposite faces .
of dimensions 4 x 3 are coloured 4 x 3 7 forafea werh it e T 4, m
yellow. The opposite faces of other M 4 x 3 % foufid et R AA T A
dlmenS|oqs 4 x 3are cploure_d red and T ST 3 x 3 3 R ot F =TTy
the opposite faces of dimensions 3 x 3 )
are coloured green. Now the cuboid TTETR | §4e 16 B9 1 1 4.l S B1e
is cut in to small cubes of side 1 cm. o9 T 1T TR, A B B % A
How many small cubes will have only . .
two face coloured ? 2 etk U1 T B 7
(A) 12 (B) 24 (A) 12 (B) 24
(C) 16 (D) 10 (C) 16 (D) 10

22. Find the missing term in the given 22 e Afehe goft O fa(gl,q TS I T HL |
number series.
4,15, 48,103, ? 4,15, 48, 103, ?
(A) 169 (B) 176 (A) 169 (B) 176
(C) 180 (D) 215 (C) 180 (D) 215

23. Find out the missing term in the given 23 I anﬁﬁ%@aqaaﬁmaﬁﬁq |
series.
Y, T,P,?,K Y,T,P,?, K
(A) Q (B) L (A) Q (B) L
C) M (D) N (C) M (D) N

24. Find the missing term in the given 24. T T goft § faqgwa ug =l 91a I |
series.
AZ, FT, LN, AZ, FT, LN,
(A) RG (A) RG
(B) SG (B) SG
(C) SH (C) SH
(D) RH (D) RH

TF whE o foTu T
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25. Find the missing number. o5, ﬁgqﬁwaﬁamﬁ|
12
2/ 5o\5 6/ \° , \I3 2/ 50\8 6/ _\o 12?13
3 10 8 3 10 8
(A) 281 (A) 281
(B) 495 (B) 495
(C) 249 (C) 249
(D) 511 (D) 511
26. Find the missing term. 26. foqqed ug =l J1d & |
ulwil|s Ul W|[S
Rlu]Jo RIUJO
L ? G L ? G
(A) J (A) J
(B) P (B) P
(C) R (C) R
(D) Q (D) Q
27. Find the missing number. 27. faqw 9 &1 Jd * |
4 12 4 12
2 6 2 8
(A) 32 (A) 32
(B) 31 (B) 31
(C) 30 (C) 30
(D) 28 (D) 28
I HE ok foTg Tam™

Space for Rough Work
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28. What is the next term in the series ? 28. Wﬁ ATIS T2 ?
3,10, 28,82, __ 3,10,28,82, __
(A) 245 (A) 245
(B) 244 (B) 244
(C) 344 (C) 344
(D) None of the above (D) U H § IS T
29. Jayantis 6 Ranks ahead of Vishnuin a 29. 45 fomnfdai &t sk e WS4, ooy @
class of 45 students. If Vishnu ranks 25 6 3 AT 2 | fe et 1 fowo] R (k25 7, I
in the class, what is the rank of Jayant Sq A A e Em we ?
from the last ?
(A) 25 (A) 25
(B) 26 (B) 26
(C) 27 (C) 27
(D) 28 (D) 28
30. Pointing to a person in the office, Amar 30. e H ek sfard ohl 3T 9 hid BT T
said, he is the brother of the father of 3 e, R T T 3 Of 3 Ut o g R |
my mother’s son. How is Amar related 3T 39 i § Frg yer g fd & 7
to that person ?
(A) Brother (A) ¥g
(B) Uncle (B) =m=n
(C) Nephew (C) s
(D) None of the above (D) 3w § Y s el
TF whE o foTu T
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PART - I
GENERAL KNOWLEDGE |H A
31. Who emphasized that “Education 31.  “fren weh AT Wik g1 =i 39 W
should be a social process” ? fore st femm ?
(A) Swami Vivekanand (A) @l faase=<
(B) Rousseau (B) =4l
(C) John Dewey (C) i St
(D) Pestology (D) UETEATSIt
32. ‘Yogah Karmasu Kaushalam’ related 32. ‘AN FHY] iz il § 9 fred
to which of the following ? el g ?
(A) Ramayan (A) T
(B) Bhagwat Geeta (B) wiTag Tt
(C) Ramcharit Manas (C) TwH=Iid 7r-g
(D) Shiv Puran (D) TRregTT
33. Which box has most volcanoes ? 33. TEH Al saraE! fhd U H Bd § 7
(A) Mid-oceanic ridges (A) HEI-3FATI0 Tl
(B) Circum-pacific Belt (B) WRST= HETETHI HEe
(C) Mid-continental Belt (C) #eA-weTEidia Haet
(D) Intraplate volcanism (D) SR ST
34. Who discovered North Pole ? 34. Tore 3T ga ot @i foram o ?
(A) Amundson (A) THUSHT
(B) Robert Peary (B) e forrdy
(C) John Cobot (C) A hrelle
(D) Captain Cook (D) +<A Fh
% & & foTu T

Space for Rough Work
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35. By which growth rate of economy is 35. 9Wa ¥ 3k gig X i fohueh gry AT
measured in India ? ST ?
(A) Percentage increase in Per Capita '
Income (A) ufa =afaa 3 3 gfaera gfg @
(B) Percentage increase in National .
(C) Percentage increase in Gross e L ufasia
Domestic Product (©) wd Lk ?{%@
(D) None of these (D) 3T © i3 &l
36. On which date the five year plan is 36. YRdd 99 auig T fora fafar & gy Y
started in India ? TR ?
(A) 1" April 1950 (A) 1 30 1950
(B) 1st April 1951 (B) 1 311 1951
(C) 1%t April 1956 (C) 1 311 1956
(D) 15t April 1961 (D) 1 31 1961
37. Which of the following was the salient 37. N & ‘g At fFeAfaRea @ @ -
feature of Ashoka’s ‘Dhamma’ ? i farerwa off 7
(A) Religious tolerance (A) e afesogd
(B) Religious festivals (B) enfifer 3ca
(C) Dominance of Buddhism (C) g uv =1 a<u&q
(D) Religious Rituals (D) efties T&hR
38. Which of the following battle paved the 38. fr=faiRaa o @ foha @<t 3 Sfivie & fou
way for Aurangzeb to become Mughal T TEIME 94 o1 /T 99r&d feram 7
emperor ?
(A) Battle of Dharmat (A) =Td 1 T
(B) Battle of Kalpi (B) Tl 2l et
(C) Battle of Samugarh (C) @G <l ST
(D) Battle of Khanwa (D) @ =l IS8
TF whE o foTu T
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39.

40.

41,

Which one of the following is not
necessary in microteaching ?

(A)
(B)
(C)

Defining a particular skill
Small lesson plan

Teaching a large group of
students

Various means of feedback

(D)

is the concept that describes
the beliefs of an individual.

(A) Value
(B) Attitude
(C) Behaviour

(D) Personality

What is Rigid Constitution ?

i. Where there is differentiation
between Law making procedure
and Amendment procedure.

ii. Where there is ratification of State

31202/TF — BBT/ENT

39. fy=faifaa # @ sH-a1 gaw freqor &
STEwIh T © 7

(A) Tafsme Fierer i afteiya s
(B) 9IS AT

(C) ferenfeiai < sr¢ wyg 1 wgr
(D) RS 3 3 wrem

-M

40. I8 FAIUTOT 7, S fopeft = o6

Trgamai =1 ol Rt 2 |

(A) Ha

(B) fugfa
(C) =FER
(D) =Afddca

41. FINHAIH R ?

Legislatures is essential. SR B |
(A) i (A) i
(B) i (B) ii
(C) iandii (C) i3Mii
(D) neither i nor ii (D) Aati AR i
TF & o feru T
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42. What is correct ? 42. FNMTE T ?
i. Prime Minister will be head of i, g, TEmuee o gRa g |
Cabinet. ) .
i. Members of Cabinet will be i. FHAUST % 9 {,\E . ””ii':' ik
appointed by the President with Tregafal o g1 forg fofg S |
the adwce. of Pn_rne Minister. . i J-i:ﬁl-lusww@%qnmﬁm‘érm%ﬁ
iii. The Cabinet will be collective
. I B |
responsible to Lok Sabha. _
(A) i (A) 1
(B) ii (B) i
() iii (C) iii
(D) None of the above (D) 3w | § g TE
43. Whenwas Damodar Valley Corporation 43.  <THIG e e ohl TTORT el 61 T8 ?
established ?
(A) 1948 (A) 1948
(B) 1951 (B) 1951
(C) 1954 (C) 1954
(D) 1957 (D) 1957
44. Inwhich State is the Kakrapara nuclear 44, SHEHAIN LAY G fope T H feora @ 7
plant located ?
(A) Tamil Nadu (B) Uttar Pradesh (A) afITg (B) I Wew
(C) Rajasthan (D) Karnataka (C) TSN (D) feh
45. At which of the following place the 45. f=fatad 0@ o T w tfaees sreie
historic I.N.A. trial took place ? f&w2 BIet gehamT garT ?
(A) Supreme Court, New Delnhi (A) gﬁaw’ qéﬁ(,—c-ﬁ
(B) Azad Maidan, Bombay (B) 3TSI1E HeH, q;.qsc
(C) Victoria Memorial, Calcutta (C) forraifian anfaet, hetermr
(D) Red Fort, Delhi (D) et faret, feeeft
TF whE o foTu T
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46. To amend the fundamental rights 46. HifcTen Sttt skl Generd s o foru form
which method shall be adopted ? TS T ST SITer ?
i. Simple majority of Parliament i WETHTWUTE@IH
ii. 2/3 majority of Parliament R S
iii. 2/3 majority of Parliament and . W g
ratification of more than half of lii. |9 1 2/3 SgHA 3 1Y | e
State Legislatures T faumwued 1 sgaaeH
(A) i (A) i
(B) i (B) i
(C) iii (C) iii ‘
(D) None of the above (D) 39 H & IS AL
47. Optical fibre is discovered by 47. MfEehel BIEsR o Wistehdl &
(A) Narinder Kapany (A) e
(B) Samuel Cohen (B) &gT e
(C) T.H.Maimah (C) d.u=. Bmme
(D) Jonas Salk (D) SHTE GTeh
48. Diseases which are transmitted from 48. U AT W T H TIFING B T W 3
one person to another
(A) AIDS (B) Hepatitis B (A) TEH (B) feuersfea B
(C) Covid—19 (D) All the above (C) ®ifag—19 (D) Sulad asft
49. What will be sequence number of 49. TSN e o ST AR H 2021 i SHUH
2021 population census in India after R KR
independence ? ’ .
(A) 8t (B) 7t (A) 8dr (B) 7=t
(C) ot (D) 1ot (C) 9df (D) 104t
50. On which year 14 big commercial 50. WA % 14 = ATk Siehi ohT TSI
banks were nationalised in India ? [ERELRERIRIRI I
(A) July 1969  (B) July 1971 (A) ST 1969 (B) ST 1971
(C) July 1980 (D) July 1961 (C) S 1980 (D) s 1961
% & & foTu T

Space for Rough Work
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PART -1l
EDUCATIONAL INTEREST foreroT srfersf
51. Objectives of pre-service teacher 51. ¥ uqd freres e seiwdl & sevdi §
training programme does not include e 78 2
(A) Professional competence (A) SITEHTRh gerd
(B) Social commitment (B) wmHIiSTeh a=egar
(C) Aesthetic interests (C) waTcHes Rl
(D) Religious competence (D) enfies qeran
52. Role of teacher in institutional 52. GEWT RISt o fregen ot siftrenT @
planning is
(A) ldentification of needs (A) STEIIRATHT 6T TG HEAT
(B) Preparation of improvement (B) HuR SRR qIT HET
programme
(C) Implementing the project (C) ST T ToRa=a= T
(D) Evaluating the project (D) TSI ST HeaTeh ]
53. The demand of 218t century 53. 21 off @l <Al e sk A @
education is
(A) The content should be engaging, (A) Tervarereg foereren, wrefies wd forefe
relevant and meaningful to student’s % Sfte o g 31eiyot &
life
(B) Teaching should increase learning, (B) Teror saferm, o= us Hgehri |
innovation, collaboration gfg +
(C) Contents like global awareness, (C) difegeh STRTEShAT, TR HT&dT
civic literacy, health awareness TS I b Yfd SRRkl Siet
should be included ferereregst @ it i s
(D) All the above (D) 3uTrera Tt
TF whE o foTu T
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54. Communication will be effective 54. €YYo 99Tl B
(A) Ifitis delivered in a calm situation (A) v ¥g wrq aRReafel | SeM TR
Sl
(B) Ifitis delivered slowly and clearly (B) <& ¥g ek § Ud Tusedr ¥ YeH o
ST
(C) Ifit reaches the receiver completely (C) S ¥ UTEl deh qUia: Tg=rm
(D) Ifit reaches the receiver as (D) w= @& Tﬁ T Uk o A
intended by the sender STIEY TR
55. The first important step in teaching is 55. TR18701 1 Wem ﬂ‘s’c_ortgﬁ T T
(A) Knowing the background of students (A) Ternfeii st gsayfi sl ST
(B) Planning before hand (B) UEH ¥ JISHT §MT
(C) Organising materials to be taught (C) =9 &I I arelt AEBERT i
fad T
(D) None of the above (D) SYU | ¥ IS el
56. The main aim of classroom teaching is 56. el eI 1 @ Aed ©
(A) To give information (A) AT 9GH bl
(B) To develop enquiring mind (B) @sht nfease o1 faspa e
(C) To develop personality of students (C) fernfef=i o safaaca o1 fashr@ st
(D) To help students to pass (D) ferenfefai =1 wdien ® 3ol €9 ?q
examination GEdl T
57. The academic performance of 57. Toenfd=i & et fvures o efigfg &
students can be improved, if parents ST Hehdl R, IfE UTeTehl sht Scanfed fomam i
are encouraged to g%
(A) supervise the work of their ward (A) 379 UTCT o T <Rl LRI FH B
(B) arrange for extra tuition (B) =Afcftera frequr it syaeen & 2q
(C) remain unconcerned about it (C) 3T HEY T hig BT T oIl
(D) interact with teachers frequently (D) T3netehi o |1 TR-TTR A= Tk
FH T
% & & foTu T
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58. Some students in a class exhibit 58. el O Fo foameff e & ufg 3rcafesn
great curiosity for learning. It may be forgmen yefsta swd 2 | 9vad; v foemeff
because of the children
(A) are gifted (A) wfqameTett gid 8
(B) come from rich families (B) &t ufami @ 317d @

(C) show artificial behaviour (C) W =Faer Yeiid =id &
(D) create indiscipline in the class (D) hedT H TR AT 39 hld &

59. Which of the following is not a part of 59. =1 T O GyMTCHe & 1 9T & B
cognitive domain ?

(A) Content knowledge of school (A) feramerfia foreri =i fererseg 1 s
subjects

(B) Acquisition of skills (B) hiSTell hT 315

(C) Psychology of children (C) et T

(D) Sociological perspectives (D) TETETETT ufdey

60. An effective teaching aid is one which 60. T 9Tl T f3reror qraft o et &

(A) is colourful and good looking (A) ST T Tl T 3R &

(B) visible to all students (B) St @t feranii= =i fews ¢

(C) activates all students (C) < mft foenfofat =t wifsha w@

(D) easy to prepare and use (D) it fmfor v 9= # Wi &

61. Counselling is a process of 61. el T ufskn @

(A) Diagnosis and prescription (A) Frem wd fidwm <t

(B) Helping students towards self (B) w@-facer 1 feam & ferenf¥iari <6t
direction HlAdT bl

(C) Orientation of pupils towards (C) wmiSTeh UM hi 3T ferarfeiari <1
social expectation IHE R

(D) None of the above (D) Wi § € IS el

TF whE o foTu T

Space for Rough Work

Set-A



31202/TF — BBT/ENT - M

62. At primary level, it is better to teach in 62. Wrfhes T, Wwﬁﬁmﬂméwgﬁm
mother language because B, HAifeh
(A) It develops self confidence in (A) Tg Sl o IATcHTavaT i forepfa
children AT B

(B) It makes learning easy (B) I HAfP™ ! A ST 2

(C) Itis helprI in intellectual (C) I8 aﬁm ﬁ;m’{:[ ﬁ L EEBED @?ﬂ %
development

(D) It helps children in learning in (D) == Srell shi STehideh STdTerl 8 Eig
natural atmosphere T 7eE AT &

63. Onthe first day of his class, if a teacher 63. e o Yoy feaw, afe fornfeat gro et
is asked by the students to introduce 31e7eF o1 S99 1 Ui e %@ el ST 8,
himself, he should I Tereres =1 =nfeu fon
(A) ask them to meet after the class (A) 9% 3= el o IUA e i g
(B) tell them about himself in brief (B) 3= T & fawd # €89 H waTg
(C) ignore the demand and start (C) 3ehl U hl 3TCET L TI1-10T IRY

teaching Exd
(D) scoldthe students for this unwanted (D) IEEIRRIEAREEIRCHC TR AL
demand gl

64. The best remedy of the students’ 64. Ta=mfer &ht srferm gasft gaenat &1
problems related to learning is HaH 39 2
(A) Suggestion for hard work (A) 3T UNST H I LSEIC]

(B) Study in library in one’s (B) 3ot Tt § qaehrer H 31eR
Supervision AT
(C) Suggestion for private tuition (C) fasht farequr 2q Femar <
(D) Diagnostic teaching () REHEIERN A
I HE ok foTg Tam™

Space for Rough Work
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65. To maintain interest among students 65. hell o S foenfefa § wf s=me @A

in class, a teacher should o foTu uen a7 <Rl

(A) Use blackboard (A) TIHUE HT IFANT HEAT AT(ET

(B) Discuss and ask questions (B) ==t Wd WA IS AMfeY

(C) Tell stories (C) herfat srart =ty

(D) All the above (D) SR |eft

66. Which one is not a quality of a reflective 66. U fasiiat fRreres =1 o 7€t ®

teacher ?

(A) Changes the environment and (A) aTTeRYT Ud AR sl Tiafdd o e
materials to encourage new ST GTEATE TieaTad e &
learning possibilities

(B) Reads professional literature to (B) 3 AfYes diwa & foru sma@fies
learn more qifgca &1 31599 LT 8

(C) Maintains strict discipline (C) H3 SATEA T W@l 2

(D) Reads students’ notes carefully (D) Toremtei o Aied I AradHIgEeh Gl ©

67. For proper personality development of 67. forenf¥an & safdaca o 3faa faema 2g
students, parents should UTcTehT

(A) Over protect their child (A) 3 dTeal i JFcAfersh TR ol

=fey

(B) Regularly compare the child with (B) 3T el o1 gE Tormnmfe & @mar
other students T AT =M

(C) Provide conducive environment (C) = 9T A% ATATRT TG AT
at home Sl

(D) Engage qualified teachers for (D) ek feru fogur frereh g shaer
them Bl

TF whE o foTu T
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68. The mostimportant indicator of quality 68. wmﬁ&waﬁwmﬁw
of education in a school is WW%

(A) Infrastructural facilities of a school (A) frermerr i sdEERTS giaand

(B) Classroom system (B) e 7

(C) Textbooks and teaching-learning (C) TTe-gEh T Tretor- 1wt
material

(D) Student achievement level (D) fernfef=ri <t Suetfstr o1 T

69. When the students try to solve the 69. afg faemeff yoai o1 g« fersr grr Faffa

questions in some different way as &k 8 U MY B 9 o fafer @ o 1

taught by the teacher from prescribed T A ©, o 3 Tt o

books, then these students should be

(A) Discouraged to consult some (A) 38 ié,' 1 Tt JEd  fa
books other than prescribed e HI TG B EdlcETed fopa
books on the subjects ST %q, .

(B) Suggested to talk with their (B) el < 3Td 39 frerhi & a0
teachers after the class 1 gedl fean S =ty ,

(C) Encouraged to consult some other (C) 3u fawa 1 F® 311 T P 1 <
books on the subject ki cHfed ﬁ’F"“ ST e

(D) Suggested to follow the class room (D) e § 7o 37k e KL h g &
notes in order to get good marks el o TICH T LA F I Gl
in the examination e s =nfew

70. In context of the habit of absenteeism 70. foremeff st srgafedta i s1ed o #ad

of student

(A) The Principal and parents should (A) ST T bl ﬁﬁﬁ BT =TEY
worry (B) faemera & srfueptit ot faeme™

(B) The officials of the schools should Iremen femt % IgET 3% faeg
take action against them as per FrlaTEl S =R
school’s discipline Sofira Ryl :

(C) They should be given less priority ©) SN Qﬁﬁﬁﬁ @FFITE O
in the classroom in relation to “hETT H hH 3T a
regular students ST =ee . .

(D) The teachers should take it as a (D) f3rerent shl 38 Uk TR TWET & ®U A
serious problem T =R

TF o foTu T
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71.

72.

PART - IV
GENERAL HINDI/ &= &=t

feifoRa ® & foreht Ueh aTeRr-ag=aa § qe
i STl T2 B | ST hicthA oft GO B |
34 fafga i |

(A) T I 3fed g3 IR T S1eai
T fou mn | fRe aut g9 ot | U=t
el W HEe § gueh @ |

TS e | et ol | g T el
Teafast o Sa o | TafE o e
TATE <1 3R gehle ol |

Sl TEdEE o | 3R § megfe
33 @ ot | farfest & {e oft 3TTeR

o L 33 @ AT | FgHT IS g
Tl ot |

T A ST ET | O FIS T SR | Rt
ToRToTt 3 o719 <A1 <& Rl TwehIc 1T
& | Ut =Eai | feg T |

(C)

(D)

Frerifara & @ g wros o) A AR & 7

73.

74.
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“STR ~ TR =TT & oh STTSE S1el TR + STeT
T S, o g 3 3y TS i forn 17 3|
TR H T YRTaR ol fafed o 3deh THH
1 T I T & o faemey o dR W
Toher TeTar 1 I foRaT ST EekaT @ 7

(A) s et € |

(B) i at® dier |

(C) TH-TohL & I I el |

(D) &-WrEI g |

‘TS G R @I ] | 319 TR FH BIg H
3Gk U B = ST AT | =T Al 39
@ TG | S Sgd Ted < | A R
TR T, HAMTWE I

I TR i € H UG TR FreATioRa wrsat
o TTal 4 W 3TH S chddl Ha-TH ITeai
% == 1 g |

(A) T, T3, 3T, 35, BIF, TE I,
(B) IS, T3, T 7, BIS T 7, <1, &l

% 3@

(C) %, T3, 31, Ik, 3, Ty, gu, #
(D) W, 3T, 39F, Igd, 39, 7, gH, §

TF whE o foTu T
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75.

76.

freifera & @ form oo # TUTaTeres TRy
1 =T feRaT TR R 7

(A) % T AT 1 hIET R |

(B) TSl o off< o8 geheildl & & |
(C) e Tt <hl g Wi e Yot = |

(D) % T STTHET-HF o 37 |

feifera & & forg arer-oge # form-forgit

1 3fra =T fopa e R 7

(A) Ef. I = gl G&hd i § A HRET
HE B A 8 | HEhd HIRE! WG HIY
@ |

(B) . IMl 4 HaT - F&ha I W @
®RE § 7 F A 7 | FEhd BRE!
oY TH |

(C) =f. sml 3 al - “HEhd i T &M
FRE | g B S 2 | HEhd B

77.

78.
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freifera @ @ form S -wg | qeATaR

st fowrg adi @ 7

(A) e, ferfers, erie, TmmEmE 37
GRS | AT I aTai sl S
T A ek HIEHT shl ek el
%! gfad Ht 2 |

(B) el @t W wHWERUA 3R Ul
o1 TUT FAR 1 G d1eq off |

(C) serehiEdl |Gl H FEAT SR =R U1 &9
¥ fefsrea aeieh T ammenia 2 |

(D) fommn qeh-fishl &7 & 3 & T 2 |

19 a1k ToRet ST o o foarer =
? | o 3ueh g w0 1 3uetsu R |

U e Bl AT HET AT 2, S ST 3T
o Torad it 2, fSreh 3=amor & fordr foreht
31 a1 TN A < ISal a9l U3
¥ f7ohet o JETeT o it forelt otaaa 1
T3t foRu forT ST st foehet STt & 7

. (A) E=R
I76q BN 8 |7
(B) =M
(D) <. 3T 3 heT, TEha ht W Al B
H g 7S 8 | HEhd-HRE] Teqhly (©) =
@ | (D) ==
% & & foTu T
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79. U, %, §, |, § &S a8, Sent

IR

(A) Tl § BT 2, SHieR 3 huay eatial
g |

(B) T € &Il 7, A I qrered eatat
g |

(C) <HI B3l ¥ BIaT 7, 3@ I 3frsso
wqfaf 8 |

(D) SR <t 3R A=t Bt o <ft= & gra
2, a1y I Scarsss a4t § |

80. fSIcTeIer vree form wIfe o THT o1 3eTeTwr
27

frefafiga e % TeH U, F. 81 4 . %. 84
H IS |

THT ARAAT oh o= SUAToeT, TR Frguf aTfdfeh
ST SR sife forehrd ot ST= =RATrEn gaa-41
fewms <a &, el 1S gew sfa gun a6
TE U ST & | T 18 FemRy 3 g g
o dsil ¥ e 1 o foran iR sl -l amehd 38k
AT THATT 3T 8 WA | 36 HemR! A T

31202/TF — BBT/ENT - M

& e 2 fop ofifaes ol o sifedes fasm m
STHTIG SAHH FXIa1 T QAR 31 96 371 T4
2 | 311 shl @t oht qrifefass geasar & dmmE
9T HTIT ST =, 7 Toh Ted) 3T 3R o &
YT W | HETeAT Mieft 4 g T # g6t v ™
forem feam o |

forma @1 qwreRl ® O, W, Taie, e ot oe
I TS < R Ferat sht ffa feen R | <t
2, i fde o1ed gan W | sitfaek wifa feelen
HIH TS @ 2, i i sreferasen qeTel i
SRR | 310 Sftam-sh1eT § W i 31 991g g9
TEA TRIWR T |

TR G-k A 39 31579 Y&HS(d o feret - -
Toreht ae et ot T, g fovara o1a off Hisg
? | T I o1 Tohfd o IR off et S wehdt @
o RIS ot o1 SRITE ST @t § foart T &t
?, W€ TR~ 501 & gord &1 el © ¢ Jehfel
1 1S T 76 R | et HemRl % w9 §, woff
JTehR{deh STTIGT o &9 H 98 3To1d B oh1 T ot
Tl 2 |

T8 3R Ll & foh &1 Ao oAl ATee bl G 37
ST T 7 §U Al 1S Tohel o o1 GIR TE | ShIUAT-
Hehe ATRITCTeh © Tifoh SToTaTy UiadH ok Eehel

TF whE o foTu T
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1 TRt ST, SHRT STIHT -Tal fohal ST HeheT |
Tehfd o WY SIS B TR gH 1 7 AW, q1 98
o & flie o <o el B | el 9% Q@ hLell
7, a1 ok 3o A 9= & fore =€, Sfa sa
o ATfesh Afas o foe et § | 918 Teen =nfe
Top ara g ifaes woifa @ 7, Stafafaear
T | gafera Wt |

81.

82.

“fifcreh forerma 3R enfdfers wygfg W smenfa

AT G T el T SR 3T S

S E ¢

(A) iR HIAT TR sl A 1
Tl hiH o ToTT hIg FemT=T T
BN ERGR

(B) WHifeh SHIUHT HETAR o RN dfvaeh
aTidies Tdt <t feufa der &1 s B

(C) wifer Wifaeh Tl & RO 71
IS B T S T T B

(D) 3wl g+ft wel @

TRTea meht 7 e e # fore T W femm
IERIE 1K

(A) Txar o1 Mifaes faepra for wohR &,
3 A W

(B) wrfiifefass araear fore TR &1, 39
T W

(C) unfifeferer Traean 3T Tt i Wl
% o= fhe TR Tder &, 39 T W

(D) 78 & IS T

83.

84.

85.
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Tehfd <l 1S TET T 8, 98 I §, Hifh
(A) 3Teh! IR & Sl ST Fehelt

(B) gt W SHEEA i @ T8 fon
T T B

(C) g &t emrl & &9 # a7 Feft
JTehfieh 3TTYET % &9 H A i
TR-FR I <ol 3

(D) o€ JISH-3TW B

HETHT 3T STR{ch STTIETE Fferd it & foh
Yepfd A f@e e ga fean 7, arfeh

(A) wHE-Siad e s= S

(B) @Fui Sfta STa sl wfes Fgfed &9
g fafaa @

(C) &l ST querd 1§ S

(D) SIHEEAT % B S

feifeRa ot # & g a1 w1 fafea
Fif |

(A) 35 St drg Bgd hr 3TN I5eh! gfomy
39 e |

(B) T U =R IS o §IE I WU WIoH
feRam |

(C) T3 vl & o 30 w=ga @ ot § |
(D) & @ wrid Brft, vt 3§ == fier |

% & & foTu T
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PART -V )
GENERAL ENGLISH / 9= 7St
Read the following passage and answer 87. There were new virus related
Q. 86 to Q. 90. deaths on the previous day.
Cuomo focussed on controlling 10 Virus Hot (A) 113
Spots in N.Y.C. : Live Updates. (B) 18
As New York City looks to reopen on (C) 131
June 8, Gov. Andrew M. Cuomo said officials
(D) 133

were preparing hospitals for a potential uptick

in corona virus cases.

New Jersey reported 113 new virus 88. ‘Uptick’ means

related deaths, a decrease of 18 from the (A) finish

previous day.
(B) decrease

N.Y. Times
(C) rise

(D) beginning
86. There were lesser number of virus

related deaths

89. The news is about
(A) on the day of reporting
(A) Hospitals
(B) the day before reporting
(B) New York City

(C) few days before reporting (C) New Jersey

(D) in New York City (D) Corona Virus

TF whE o foTu T
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90. What is the name of the Governor of 94. Select the proper sequence of the
New York City ? given sentences.
(A) NYC ,
1. They went with mother hen to
(B) Andrew M. Cuomo
catch worms.
(C) M. Cuomo
2. She laid the eggs.
(D) Hotspots
3. Afew months the chicks grew into
91. | if you had told me. adult hens.
(A) would help
4. The chicks hatched.
(B) would have helped
(C) helped (A) 1,3,2,4
D) will hel
®) i ®) 2,4,1,3
92. . . only girl who got the award (C) 3,21, 4
IS my sister.
(A) The (D) 4,1,2,3
(B) A
(C) An
95. Ihave made a cake kheer
(D) Some _ _
for my sister’s birthday.
93. The teacher mistakes in (A) as well as
the essay.
(A) pointed in (B) also
(B) pointed (C) but
(C) points (D) on the other hand
(D) pointed out
TF o foTu T
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96.

Find the sentence which is irrelevant
(not connected with) for the paragraph
given below.

Chhattisgarh is called the rice bowl
of India. Chhattisgarh was carved out
from Madhya Pradesh. Many varieties
of rice are grown here. A large part of
the agricultural land in Chhattisgarh is
utilised for growing paddy. Rice is the
staple food of Chhattisgarhis.

(A) Chhattisgarh is known as the rice
bowl of India

(B) Many varieties of rice are grown

98.

99.

31202/TF — BBT/ENT - M

Some like rains because it gives
respite from heat. Some like it just for
the joy of watching it rain. Some people
love rains because it brings smiles in
the faces of farmers.

Select the suitable topic sentence
(sentence containing the topic) for
the above paragraph.

(A) farmers like rain
(B) some people like rains

(C) people like rains for different
reasons

(D) everybody likes rains

I’'m afraid of swimming in deep rivers.

But | love to swim in rivers.
here
(A) shallow
(C) Chhattisgarh was carved out from
(B) deeper
Madhya Pradesh )
(C) high
(D) None of the above (D) narrow
join the party. about HIV.
(A) Notonly (A) aware
(B) Butalso (B) beware
(C) Eventhough (C) known
(D) But (D) understand
TF whE o foTu T
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SeT- A

I 3fHRd HE HT I ; 29 Sferemaw a3tk : 100

Time for marking answers : 2 Hours Maximum Marks : 100

1. 39 9% g § 100 T 2 | TS T 1 37 1 ¢ | At T97 i erfamd 2|
T o 3T & TS OMR 3W-31 (Answer-Sheet) T 7fshd i |
VTR YedTeh g [ohal ST |

forelt oft TR & FApetet o1 AT 39 TF HisTge BIF T JT afeld 2 |

OMR 3 -3fic (Answer-Sheet) &1 T Fid THT UHT 13 TG 7 od S0 I8 ® S
1 35H 1T AT fcrae ofE e 9 41 98 W« B 9 |

o & 0D

Note :

1. This question Booklet contains 100 questions. Each question carries 1 mark. All
questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.

Use of any type of calculator or log table and mobile phone is prohibited.

o & @D

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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